Determine whether
$$x-1$$
 is a factor of $x^3 - x^2 - 3x - 3$
 $x = 1$
 $(1)^3 - (1)^2 - 3(1) - 3 = (-6)$
 $x = 1$
 $(1, -6)$ is a point on the graph

Solving

and the

Rational Root Theorem



Solve by factoring - then check your answer using the graphing calculator

$$y = 2x^{2} + |x - 1|$$

$$(2x^{2} + 2x)(-x - 1)$$

$$2x(x + 1) - 1(x + 1)$$

$$(2x - 1)(x + 1) = 0$$

$$2x - x = 0$$

$$x + x = 0$$

Solve by factoring - then check your answer using the graphing calculator

$$2x^{3} - 7x^{2} + 3x = 0$$

$$\times (2x^{2} - 7x + 3) = 0$$

$$\times ((2x^{2} - xx + 6x + 3)) - 1$$

$$\times (2x - 1) - 3(2x - 1)$$

$$\times (x - 3)(2x - 1) = 0$$

$$= (x - 3)(2x - 1) = 0$$

Solve by factoring -

$$y = x^{3} + 125$$

$$(x + 5)(x^{2} - 5x + 25) = 0$$

$$x + 8 = 0$$

$$X = -5$$

$$X = -5$$

$$\frac{5 \pm \sqrt{-5} + 25}{2}$$

$$\frac{5 \pm \sqrt{-75}}{2}$$

$$\frac{5 \pm \sqrt{-75}}{2}$$

$$\frac{5 \pm \sqrt{-75}}{2}$$

$$\frac{5 \pm 5i\sqrt{3}}{2}$$

$$\frac{5 \pm 5i\sqrt{3}}{2}$$

Solve by factoring

$$y = (27x^{3} - 8)$$

$$(3x-2)(9x^{2} + 6x + 4)$$

$$3x-2 = 0$$

$$3x - 2 = 0$$